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Multiplication Word Problems

1. There are 3 boxes of cookies. Each box has 4 packets. Each packet
contains 8 cookies. How many cookies are there in total?

2. A store has 4 racks. Each rack has 5 shelves. Each shelf has 6
products. How many products are there in the store?

3. A farmer has 2 cows. Each cow produces 7 liters of milk each day. If
the farmer sells the milk for $3 per liter, how much money does he
make each day?

4. A party has 6 tables. Each table has 4 plates. Each plate has 3
sandwiches. How many sandwiches are there in total at the party?

5. A gardener has 8 flower pots. Each pot has 2 plants. Each plant has
5 flowers. How many flowers does the gardener have in total?
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